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PC Midterm Review #2

Law of Sines/Cosines, Vectors, Sequences and Series

Solve each of the following triangles using either the law of sines or cosines.
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PC Midterm Review #2

Use the formulas provided to you to complete the following. Determine what type of sequence
the following are and then complete the problem.

8. a=-5, d=4, n=9; find the n" term 9.. a=5, n=4,r=3; find the n" term
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Find the missing terms in each sequence. You are given what type of sequence
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15. Find -rhe 15™ term for the arithmetic sequence -3,3,9, .. A~ Oz -3 1 (15-006)
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X Find the flr's’r 4 terms of the geome’rmc sequence wﬁh a--6 and r---2/3
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Find S, for each series described. You will need to determine if the series is
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